[ Efficiency vs vertpos |

0.4

C0.00F -+ eeeieeeees R SRTRTRINS

@ E :

2 0,08+ errerineeeeneees Sl R

(&) F .

50.07_— """""""""""" R (AR EEEEE

] E :

L e froeeeees
0,05k ++eeeseiesesnenenene N TP
0.04F -+ froeeeeeens poeee e
0.0 ++eeseseieesnenesene ] TR
0.02F oo froeeeeeens R R TS
0| S S +ﬂ N ¢ O

AR H++f}i A A

o B : :

g [

o [

1_— -------------- - P

Efficiend

107 1

10 0?
TP vertr (cr%)

SSW_orig

— DQ v_UUUUI_RUUUUUUUUI_G obal _C \Y '

—— DOM_V0001-R000000001Global _CMSSW pl08
—— DQM_V0001_R000000001_Global _CMSSW pl075
—— DOM_V0001_R000000001 _Global

CMSSW _plo7

~ 0.5
20.45
n
> 04
>
2
$0.35
0.3
0.25]
0.2
0.15
0.1
0.05

ettici

...........

...........

..................

.............................

..........................

..........

..........

..........

Vs

Ratio
N

0.95!

0 10

20 30

TP vert z (cm)

[Effici

ency vs.sim PV z |

~ 0.0 :
> F :
50.009F :
5.008F- i1}
9.007F- :f
> F :
2.006F o
o F :
8.005F e
5] E :
0.004F- o
0.003F :
0.002E :
10 F| SRR R A 1 1 IR
P S T T T TR D O L 11 T
o +OF :
s E
@ L ]
| e o R S e e e R e R R R
6

10 -8

-4 20 2 4 6 810

Sim. PV z (cm)




	Contents
	Page 1


